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PROGRAM PENGONTROL MIKRO

/**********************************************
*******
This program was produced by the
CodeWizardAVR V1.25.3 Standard
Automatic Program Generator
© Copyright 1998-2007 Pavel Haiduc, HP InfoTech s.r.l.
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Project : MIMI
Version : 1
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Author  : F4CG
Company : F4CG
Comments:

Chip type           : ATmega16
Program type        : Application
Clock frequency     : 11.059200 MHz
Memory model        : Small
External SRAM size  : 0
Data Stack size     : 256
***********************************************
******/

#include <mega16.h>
#include <stdio.h>
#include <delay.h>

int i,mi;
unsigned char ko[32],koor[2];

// Alphanumeric LCD Module functions
#asm

.equ __lcd_port=0x15 ;PORTC
#endasm
#include <lcd.h>

#define RXB8 1
#define TXB8 0
#define UPE 2
#define OVR 3
#define FE 4
#define UDRE 5
#define RXC 7

#define FRAMING_ERROR (1<<FE)
#define PARITY_ERROR (1<<UPE)
#define DATA_OVERRUN (1<<OVR)
#define DATA_REGISTER_EMPTY (1<<UDRE)
#define RX_COMPLETE (1<<RXC)

// USART Receiver buffer
#define RX_BUFFER_SIZE 8
char rx_buffer[RX_BUFFER_SIZE];

#if RX_BUFFER_SIZE<256
unsigned char rx_wr_index,rx_rd_index,rx_counter;
#else
unsigned int rx_wr_index,rx_rd_index,rx_counter;
#endif

// This flag is set on USART Receiver buffer overflow
bit rx_buffer_overflow;

// USART Receiver interrupt service routine
interrupt [USART_RXC] void usart_rx_isr(void)
{
char status,data;
status=UCSRA;
data=UDR;
if ((status & (FRAMING_ERROR | PARITY_ERROR |
DATA_OVERRUN))==0)

{
rx_buffer[rx_wr_index]=data;
if (++rx_wr_index == RX_BUFFER_SIZE)

rx_wr_index=0;
if (++rx_counter == RX_BUFFER_SIZE)

{
rx_counter=0;
rx_buffer_overflow=1;
};

};
koor[mi]=data;
if(mi<1) mi++;
else mi=0;

}

#ifndef _DEBUG_TERMINAL_IO_
// Get a character from the USART Receiver buffer
#define _ALTERNATE_GETCHAR_
#pragma used+
char getchar(void)
{
char data;
while (rx_counter==0);
data=rx_buffer[rx_rd_index];
if (++rx_rd_index == RX_BUFFER_SIZE)
rx_rd_index=0;
#asm("cli")
--rx_counter;
#asm("sei")
return data;
}
#pragma used-
#endif

// Standard Input/Output functions
#include <stdio.h>

// Declare your global variables here

//====SUB PROGRAM KOORDINAT TANGAN

void a (void)
{
//koordinat (0,0)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1900);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)    // buka
{
PORTA.6=1;
delay_us(1400);



PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)   //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)   // posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1700);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2200);
PORTA.3=0;
PORTA.4=1;
delay_us(1400);
PORTA.4=0;
}

for(i=0;i<200;i++)  //  posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1700);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2200);
PORTA.3=0;
PORTA.4=1;
delay_us(1300);
PORTA.4=0;
PORTA.6=1;
delay_us(1000);        // tutup
PORTA.6=0;
delay_ms(14);
}
}

void b (void)
{
//koordinat (1,0)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1800);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan

{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1800);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2200);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1800);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2200);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void c (void)
{
// koordinat (2,0)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1670);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);



}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(2000);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2300);
PORTA.3=0;
PORTA.4=1;
delay_us(1150);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(2000);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2300);
PORTA.3=0;
PORTA.4=1;
delay_us(1150);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void d (void)
{
//koordinat (3,0)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1500);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;

PORTA.2=1;
delay_us(2100);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2300);
PORTA.3=0;
PORTA.4=1;
delay_us(1050);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(2100);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2300);
PORTA.3=0;
PORTA.4=1;
delay_us(1050);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void e (void)
{
//koordinat (4,0)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1300);
PORTA.0=0;
delay_ms(19);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(2000);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;



delay_us(2250);
PORTA.3=0;
PORTA.4=1;
delay_us(1050);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(2000);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2250);
PORTA.3=0;
PORTA.4=1;
delay_us(1050);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void f (void)
{
//koordinat (5,0)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1200);
PORTA.0=0;
delay_ms(19);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1900);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2250);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;

}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1900);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2250);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void g (void)
{
//koordinat (6,0)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1100);
PORTA.0=0;
delay_ms(19);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1800);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2300);
PORTA.3=0;
PORTA.4=1;
delay_us(1400);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;



PORTA.2=1;
delay_us(1800);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2300);
PORTA.3=0;
PORTA.4=1;
delay_us(1400);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void h (void)
{
//koordinat (7,0)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1000);
PORTA.0=0;
delay_ms(19);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1750);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2250);
PORTA.3=0;
PORTA.4=1;
delay_us(1450);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1750);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;

delay_us(2250);
PORTA.3=0;
PORTA.4=1;
delay_us(1450);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void j (void)
{
//koordinat (0,1)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1830);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1550);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2200);
PORTA.3=0;
PORTA.4=1;
delay_us(1600);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1550);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2200);
PORTA.3=0;
PORTA.4=1;
delay_us(1600);
PORTA.4=0;



PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void k (void)
{
//koordinat (1,1)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1700);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1600);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2050);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1600);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2050);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}

}

void l (void)
{
//koordinat (2,1)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1600);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1650);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2100);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1650);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2100);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void m (void)
{
//koordinat (3,1)



for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1480);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1700);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2130);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1700);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2130);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void n (void)
{
//koordinat (4,1)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1350);
PORTA.0=0;

delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1750);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2200);
PORTA.3=0;
PORTA.4=1;
delay_us(1250);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1750);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2200);
PORTA.3=0;
PORTA.4=1;
delay_us(1250);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}
void o (void)
{
//koordinat (5,1)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1250);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;



delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++) //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1700);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2150);
PORTA.3=0;
PORTA.4=1;
delay_us(1250);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1700);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2150);
PORTA.3=0;
PORTA.4=1;
delay_us(1250);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void p (void)
{
//koordinat (6,1)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1150);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1600);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2100);
PORTA.3=0;
PORTA.4=1;
delay_us(1300);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1600);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2100);
PORTA.3=0;
PORTA.4=1;
delay_us(1300);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void q (void)
{
//koordinat (7,1)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1050);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;



delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1500);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2000);
PORTA.3=0;
PORTA.4=1;
delay_us(1300);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1500);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2000);
PORTA.3=0;
PORTA.4=1;
delay_us(1300);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void r (void)
{
//koordinat (0,2)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1770);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{

PORTA.1=1;
PORTA.2=1;
delay_us(1500);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2000);
PORTA.3=0;
PORTA.4=1;
delay_us(1400);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1500);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2000);
PORTA.3=0;
PORTA.4=1;
delay_us(1400);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void s (void)
{
// koordinat (1,2)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1680);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++) //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1500);
PORTA.1=0;
PORTA.2=0;



PORTA.3=1;
delay_us(2000);
PORTA.3=0;
PORTA.4=1;
delay_us(1350);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1500);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2000);
PORTA.3=0;
PORTA.4=1;
delay_us(1350);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void t (void)
{
//koordinat (2,2)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1600);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1500);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1950);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);

PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1500);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1950);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void u (void)
{
//koordinat (3,2)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1500);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1500);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1950);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{



PORTA.1=1;
PORTA.2=1;
delay_us(1500);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1950);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void v (void)
{
//koordinat (4,2)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1400);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1500);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1950);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1500);
PORTA.1=0;
PORTA.2=0;

PORTA.3=1;
delay_us(1950);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void w (void)
{
//koordinat (5,2)

for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1280);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1500);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1950);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1500);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1950);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);



PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void x (void)
{
//koordinat (6,2)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1200);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1500);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2100);
PORTA.3=0;
PORTA.4=1;
delay_us(1550);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1500);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2100);
PORTA.3=0;
PORTA.4=1;
delay_us(1550);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);

}
}

void y (void)
{
//koordinat (7,2)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1130);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1430);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2050);
PORTA.3=0;
PORTA.4=1;
delay_us(1550);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1430);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(2050);
PORTA.3=0;
PORTA.4=1;
delay_us(1550);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void z (void)
{



//koordinat (0,3)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1720);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1350);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1850);
PORTA.3=0;
PORTA.4=1;
delay_us(1300);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1350);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1850);
PORTA.3=0;
PORTA.4=1;
delay_us(1300);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void aa (void)
{
//koordinat (1,3)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1650);

PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++) //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1400);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1850);
PORTA.3=0;
PORTA.4=1;
delay_us(1300);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1400);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1850);
PORTA.3=0;
PORTA.4=1;
delay_us(1300);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void ab (void)
{
//koordinat (2,3)
for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1580);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka



{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1450);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1850);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1450);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1850);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void ac (void)
{
// koordinat (3,3)

for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1500);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;

delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1450);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1850);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1450);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1850);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void ad (void)
{
// koordinat (4,3)

for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1400);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan



{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1450);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1850);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1450);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1850);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void ae (void)
{
// koordinat (5,3)

for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1330);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++) //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;

delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1450);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1850);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1450);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1850);
PORTA.3=0;
PORTA.4=1;
delay_us(1200);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void af (void)
{
// koordinat (6,3)

for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1250);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal



{
PORTA.1=1;
PORTA.2=1;
delay_us(1450);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1850);
PORTA.3=0;
PORTA.4=1;
delay_us(1250);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1450);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1850);
PORTA.3=0;
PORTA.4=1;
delay_us(1250);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void ag (void)
{
// koordinat (7,3)

for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1150);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1350);

PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1850);
PORTA.3=0;
PORTA.4=1;
delay_us(1250);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1350);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1850);
PORTA.3=0;
PORTA.4=1;
delay_us(1250);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void ah (void)
{
// koordinat (0,4)

for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1700);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1250);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1750);



PORTA.3=0;
PORTA.4=1;
delay_us(1500);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1250);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1750);
PORTA.3=0;
PORTA.4=1;
delay_us(1500);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void ai (void)
{
// koordinat (1,4)

for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1630);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1300);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1830);
PORTA.3=0;
PORTA.4=1;
delay_us(1500);
PORTA.4=0;

}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1300);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1830);
PORTA.3=0;
PORTA.4=1;
delay_us(1500);
PORTA.4=0;
PORTA.6=1; //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void aj (void)
{
// koordinat (2,4)

for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1550);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1300);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1830);
PORTA.3=0;
PORTA.4=1;
delay_us(1500);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{



PORTA.1=1;
PORTA.2=1;
delay_us(1300);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1830);
PORTA.3=0;
PORTA.4=1;
delay_us(1500);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void ak (void)
{
// koordinat (3,4)

for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1510);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1330);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1840);
PORTA.3=0;
PORTA.4=1;
delay_us(1510);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;

PORTA.2=1;
delay_us(1330);
PORTA.1=0;

PORTA.2=0;
PORTA.3=1;
delay_us(1840);
PORTA.3=0;
PORTA.4=1;
delay_us(1510);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void al (void)
{
// koordinat (4,4)

for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1430);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1330);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1840);
PORTA.3=0;
PORTA.4=1;
delay_us(1510);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1330);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1840);
PORTA.3=0;



PORTA.4=1;
delay_us(1510);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void am (void)
{
// koordinat (5,4)

for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1330);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1330);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1840);
PORTA.3=0;
PORTA.4=1;
delay_us(1510);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1330);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1840);
PORTA.3=0;
PORTA.4=1;
delay_us(1510);
PORTA.4=0;
PORTA.6=1;              //tutup

delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void an (void)
{
// koordinat (6,4)

for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1300);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1350);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1860);
PORTA.3=0;
PORTA.4=1;
delay_us(1530);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1350);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1860);
PORTA.3=0;
PORTA.4=1;
delay_us(1530);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}



}

void ao (void)
{
// koordinat (7,4)

for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1200);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1250);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1760);
PORTA.3=0;
PORTA.4=1;
delay_us(1530);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1250);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1760);
PORTA.3=0;
PORTA.4=1;
delay_us(1530);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void ap (void)
{

// koordinat (0,5)

for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1700);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1150);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1800);
PORTA.3=0;
PORTA.4=1;
delay_us(1700);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1150);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1800);
PORTA.3=0;
PORTA.4=1;
delay_us(1700);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void aq (void)
{
// koordinat (1,5)

for(i=0;i<50;i++)     //bawah
{



PORTA.0=1;
delay_us(1650);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1200);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1800);
PORTA.3=0;
PORTA.4=1;
delay_us(1600);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1200);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1800);
PORTA.3=0;
PORTA.4=1;
delay_us(1600);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void ar (void)
{
// koordinat (2,5)

for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1580);
PORTA.0=0;
delay_ms(18);

}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1200);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1800);
PORTA.3=0;
PORTA.4=1;
delay_us(1600);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1200);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1800);
PORTA.3=0;
PORTA.4=1;
delay_us(1600);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void as (void)
{
// koordinat (3,5)

for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1500);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{



PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1200);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1800);
PORTA.3=0;
PORTA.4=1;
delay_us(1800);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1200);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1800);
PORTA.3=0;
PORTA.4=1;
delay_us(1800);
PORTA.4=0;
PORTA.6=1; //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void at (void)
{
// koordinat (4,5)

for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1440);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);

}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1200);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1800);
PORTA.3=0;
PORTA.4=1;
delay_us(1550);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1200);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1800);
PORTA.3=0;
PORTA.4=1;
delay_us(1550);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void au (void)
{
// koordinat (5,5)

for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1380);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{



PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1200);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1800);
PORTA.3=0;
PORTA.4=1;
delay_us(1550);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1200);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1800);
PORTA.3=0;
PORTA.4=1;
delay_us(1550);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void av (void)
{
// koordinat (6,5)

for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1300);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);

}

for(i=0;i<200;i++)      //posisi awal
{
PORTA.1=1;
PORTA.2=1;
delay_us(1200);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1800);
PORTA.3=0;
PORTA.4=1;
delay_us(1550);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1200);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1800);
PORTA.3=0;
PORTA.4=1;
delay_us(1550);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void aw (void)
{
// koordinat (7,5)

for(i=0;i<50;i++)     //bawah
{
PORTA.0=1;
delay_us(1270);
PORTA.0=0;
delay_ms(18);
}

for(i=0;i<50;i++)     //buka
{
PORTA.6=1;
delay_us(1400);
PORTA.6=0;
delay_ms(19);
}

for(i=0;i<50;i++)    //lengan
{
PORTA.5=1;
delay_us(1500);
PORTA.5=0;
delay_ms(18);
}

for(i=0;i<200;i++)      //posisi awal
{



PORTA.1=1;
PORTA.2=1;
delay_us(1150);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1800);
PORTA.3=0;
PORTA.4=1;
delay_us(1550);
PORTA.4=0;
}

for(i=0;i<200;i++)      //posisi awal+tutup
{
PORTA.1=1;
PORTA.2=1;
delay_us(1150);
PORTA.1=0;
PORTA.2=0;
PORTA.3=1;
delay_us(1800);
PORTA.3=0;
PORTA.4=1;
delay_us(1550);
PORTA.4=0;
PORTA.6=1;              //tutup
delay_us(1000);
PORTA.6=0;
delay_ms(14);
}
}

void a1 (void)
{
//koordinat (0,0)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(300);
PORTA.4=0;
delay_us(200);
PORTA.5=0;
delay_us(200);
PORTA.1=0;
PORTA.2=0;
delay_us(200);
PORTA.0=0;
delay_us(300);
PORTA.3=0;
delay_ms(17);
}

}

void b1 (void)
{
//koordinat (1,0)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(200);
PORTA.4=0;
delay_us(300);

PORTA.5=0;
delay_us(300);
PORTA.1=0;
PORTA.2=0;
PORTA.0=0;
delay_us(400);
PORTA.3=0;
delay_ms(17);
}

}

void c1 (void)
{
// koordinat (2,0)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(150);
PORTA.4=0;
delay_us(350);
PORTA.5=0;
delay_us(170);
PORTA.0=0;
delay_us(330);
PORTA.1=0;
PORTA.2=0;
delay_us(300);
PORTA.3=0;
delay_ms(17);
}

}

void d1 (void)
{
//koordinat (3,0)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(50);
PORTA.4=0;
delay_us(450);
PORTA.5=0;
PORTA.0=0;
delay_us(600);
PORTA.1=0;
PORTA.2=0;
delay_us(200);
PORTA.3=0;
delay_ms(17);
}

}

void e1 (void)
{
//koordinat (4,0)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(900);
PORTA.6=0;
delay_us(150);
PORTA.4=0;
delay_us(250);



PORTA.0=0;
delay_us(200);
PORTA.5=0;
delay_us(500);
PORTA.1=0;
PORTA.2=0;
delay_us(250);
PORTA.3=0;
delay_ms(17);
}

}

void f1 (void)
{

//koordinat (5,0)
for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(200);
PORTA.4=0;
PORTA.0=0;
delay_us(300);
PORTA.5=0;
delay_us(400);
PORTA.1=0;
PORTA.2=0;
delay_us(350);
PORTA.3=0;
delay_ms(17);
}

}

void g1 (void)
{
//koordinat (6,0)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(100);
PORTA.0=0;
delay_us(300);
PORTA.4=0;
delay_us(100);
PORTA.5=0;
delay_us(300);
PORTA.1=0;
PORTA.2=0;
delay_us(500);
PORTA.3=0;
delay_ms(17);
}

}

void h1 (void)
{

//koordinat (7,0)
for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.0=0;
PORTA.6=0;
delay_us(450);

PORTA.4=0;
delay_us(50);
PORTA.5=0;
delay_us(250);
PORTA.1=0;
PORTA.2=0;
delay_us(500);
PORTA.3=0;
delay_ms(17);
}

}

void j1 (void)
{
//koordinat (0,1)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(500);
PORTA.5=0;
delay_us(50);
PORTA.1=0;
PORTA.2=0;
delay_us(50);
PORTA.4=0;
delay_us(230);
PORTA.0=0;
delay_us(370);
PORTA.3=0;
delay_ms(17);
}

}

void k1 (void)
{

//koordinat (1,1)
for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(200);
PORTA.4=0;
delay_us(300);
PORTA.5=0;
delay_us(100);
PORTA.1=0;
PORTA.2=0;
delay_us(100);
PORTA.0=0;
delay_us(350);
PORTA.3=0;
delay_ms(17);
}

}

void l1 (void)
{
//koordinat (2,1)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(200);



PORTA.4=0;
delay_us(300);
PORTA.5=0;
delay_us(100);
PORTA.0=0;
delay_us(50);
PORTA.1=0;
PORTA.2=0;
delay_us(450);
PORTA.3=0;
delay_ms(17);
}

}

void m1 (void)
{
//koordinat (3,1)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(200);
PORTA.4=0;
delay_us(280);
PORTA.0=0;
delay_us(20);
PORTA.5=0;
delay_us(200);
PORTA.1=0;
PORTA.2=0;
delay_us(430);
PORTA.3=0;
delay_ms(17);
}

}

void n1 (void)
{
//koordinat (4,1)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(250);
PORTA.4=0;
delay_us(100);
PORTA.0=0;
delay_us(150);
PORTA.5=0;
delay_us(250);
PORTA.1=0;
PORTA.2=0;
delay_us(450);
PORTA.3=0;
delay_ms(17);
}

}

void o1 (void)
{
//koordinat (5,1)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);

PORTA.6=0;
delay_us(250);
PORTA.4=0;
PORTA.0=0;
delay_us(250);
PORTA.5=0;
delay_us(200);
PORTA.1=0;
PORTA.2=0;
delay_us(450);
PORTA.3=0;
delay_ms(17);
}

}

void p1 (void)
{
//koordinat (6,1)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(150);
PORTA.0=0;
delay_us(150);
PORTA.4=0;
delay_us(200);
PORTA.5=0;
delay_us(100);
PORTA.1=0;
PORTA.2=0;
delay_us(500);
PORTA.3=0;
delay_ms(17);
}

}

void q1 (void)
{
//koordinat (7,1)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(50);
PORTA.0=0;
delay_us(250);
PORTA.4=0;
delay_us(200);
PORTA.5=0;
PORTA.1=0;
PORTA.2=0;
delay_us(500);
PORTA.3=0;
delay_ms(17);
}

}

void r1 (void)
{
//koordinat (0,2)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);



PORTA.6=0;
delay_us(400);
PORTA.4=0;
delay_us(100);
PORTA.1=0;
PORTA.2=0;
PORTA.5=0;
delay_us(270);
PORTA.0=0;
delay_us(230);
PORTA.3=0;
delay_ms(17);
}

}

void s1 (void)
{
// koordinat (1,2)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(350);
PORTA.4=0;
delay_us(150);
PORTA.1=0;
PORTA.2=0;
PORTA.5=0;
delay_us(180);
PORTA.0=0;
delay_us(320);
PORTA.3=0;
delay_ms(17);
}

}

void t1 (void)
{
//koordinat (2,2)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(200);
PORTA.4=0;
delay_us(300);
PORTA.1=0;
PORTA.2=0;
PORTA.5=0;
delay_us(100);
PORTA.0=0;
delay_us(350);
PORTA.3=0;
delay_ms(17);
}

}

void u1 (void)
{
//koordinat (3,2)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;

delay_us(200);
PORTA.4=0;
delay_us(300);
PORTA.1=0;
PORTA.2=0;
PORTA.5=0;
PORTA.0=0;
delay_us(450);
PORTA.3=0;
delay_ms(17);
}

}

void v1 (void)
{
//koordinat (4,2)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(200);
PORTA.4=0;
delay_us(200);
PORTA.0=0;
delay_us(100);
PORTA.1=0;
PORTA.2=0;
PORTA.5=0;
delay_us(450);
PORTA.3=0;
delay_ms(17);
}

}

void w1 (void)
{
//koordinat (5,2)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(200);
PORTA.4=0;
delay_us(80);
PORTA.0=0;
delay_us(220);
PORTA.1=0;
PORTA.2=0;
PORTA.5=0;
delay_us(450);
PORTA.3=0;
delay_ms(17);
}

}

void x1 (void)
{
//koordinat (6,2)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(200);
PORTA.0=0;



delay_us(300);
PORTA.5=0;
PORTA.1=0;
PORTA.2=0;
delay_us(50);
PORTA.4=0;
delay_us(550);
PORTA.3=0;
delay_ms(17);
}

}

void y1 (void)
{
//koordinat (7,2)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(130);
PORTA.0=0;
delay_us(300);
PORTA.1=0;
PORTA.2=0;
delay_us(70);
PORTA.5=0;
delay_us(50);
PORTA.4=0;
delay_us(500);
PORTA.3=0;
delay_ms(17);
}

}

void z1 (void)
{
//koordinat (0,3)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(300);
PORTA.4=0;
delay_us(50);
PORTA.1=0;
PORTA.2=0;
delay_us(150);
PORTA.5=0;
delay_us(220);
PORTA.0=0;
delay_us(30);
PORTA.3=0;
delay_ms(17);
}

}

void a2 (void)
{
//koordinat (1,3)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(300);

PORTA.4=0;
delay_us(100);
PORTA.1=0;
PORTA.2=0;
delay_us(100);
PORTA.5=0;
delay_us(150);
PORTA.0=0;
delay_us(170);
PORTA.3=0;
delay_ms(17);
}

}

void b2 (void)
{
//koordinat (2,3)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(200);
PORTA.4=0;
delay_us(250);
PORTA.1=0;
PORTA.2=0;
delay_us(50);
PORTA.5=0;
delay_us(80);
PORTA.0=0;
delay_us(200);
PORTA.3=0;
delay_ms(17);
}

}

void c2 (void)
{
//koordinat (3,3)

for(i=0;i<200;i++)
{
PORTA=255;

delay_us(1000);
PORTA.6=0;
delay_us(200);
PORTA.4=0;
delay_us(250);
PORTA.1=0;
PORTA.2=0;
delay_us(50);
PORTA.5=0;
PORTA.0=0;
delay_us(300);
PORTA.3=0;
delay_ms(17);
}

}

void d2 (void)
{
//koordinat (4,3)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;



delay_us(200);
PORTA.4=0;
delay_us(200);
PORTA.0=0;
delay_us(50);
PORTA.1=0;
PORTA.2=0;
delay_us(50);
PORTA.5=0;
delay_us(300);
PORTA.3=0;
delay_ms(17);
}

}

void e2 (void)
{
//koordinat (5,3)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(200);
PORTA.4=0;
delay_us(130);
PORTA.0=0;
delay_us(120);
PORTA.1=0;
PORTA.2=0;
delay_us(50);
PORTA.5=0;
delay_us(300);
PORTA.3=0;
delay_ms(17);
}

}

void f2 (void)
{
//koordinat (6,3)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(250);
PORTA.4=0;
PORTA.0=0;
delay_us(200);
PORTA.1=0;
PORTA.2=0;
delay_us(50);
PORTA.5=0;
delay_us(300);
PORTA.3=0;
delay_ms(17);
}

}

void g2 (void)
{
//koordinat (7,3)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);

PORTA.6=0;
delay_us(150);
PORTA.0=0;
delay_us(100);
PORTA.4=0;
delay_us(100);
PORTA.0=0;
PORTA.1=0;
PORTA.2=0;
delay_us(150);
PORTA.5=0;
delay_us(200);
PORTA.3=0;
delay_ms(17);
}

}

void h2 (void)
{
//koordinat (0,4)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(250);
PORTA.1=0;
PORTA.2=0;
delay_us(250);
PORTA.5=0;
PORTA.4=0;
delay_us(200);
PORTA.0=0;
delay_us(50);
PORTA.3=0;
delay_ms(17);
}

}

void j2 (void)
{
//koordinat (1,4)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(300);
PORTA.1=0;
PORTA.2=0;
delay_us(200);
PORTA.5=0;
PORTA.4=0;
delay_us(130);
PORTA.0=0;
delay_us(200);
PORTA.3=0;
delay_ms(17);
}

}

void k2 (void)
{
//koordinat (2,4)

for(i=0;i<200;i++)
{
PORTA=255;



delay_us(1000);
PORTA.6=0;
delay_us(300);
PORTA.1=0;
PORTA.2=0;
delay_us(200);
PORTA.5=0;
PORTA.4=0;
delay_us(50);
PORTA.0=0;
delay_us(280);
PORTA.3=0;
delay_ms(17);
}

}

void l2 (void)
{
//koordinat (3,4)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(330);
PORTA.1=0;
PORTA.2=0;
delay_us(180);
PORTA.5=0;
PORTA.4=0;
PORTA.0=0;
delay_us(330);
PORTA.3=0;
delay_ms(17);
}

}

void m2 (void)
{
//koordinat (4,4)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(330);
PORTA.1=0;
PORTA.2=0;
delay_us(100);
PORTA.0=0;
delay_us(80);
PORTA.5=0;
PORTA.4=0;
delay_us(330);
PORTA.3=0;
delay_ms(17);
}

}

void n2 (void)
{
//koordinat (5,4)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;

delay_us(330);
PORTA.1=0;
PORTA.2=0;
PORTA.0=0;
delay_us(180);
PORTA.5=0;
PORTA.4=0;
delay_us(330);
PORTA.3=0;
delay_ms(17);
}

}

void o2 (void)
{
//koordinat (6,4)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(300);
PORTA.0=0;
delay_us(50);
PORTA.1=0;
PORTA.2=0;
delay_us(180);
PORTA.5=0;
PORTA.4=0;
delay_us(330);
PORTA.3=0;
delay_ms(17);
}

}

void p2 (void)
{
//koordinat (7,4)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(200);
PORTA.0=0;
delay_us(50);
PORTA.1=0;
PORTA.2=0;
delay_us(280);
PORTA.5=0;
PORTA.4=0;
delay_us(230);
PORTA.3=0;
delay_ms(17);
}

}

void q2 (void)
{
// koordinat (0,5)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(150);
PORTA.1=0;



PORTA.2=0;
delay_us(350);
PORTA.5=0;
delay_us(200);
PORTA.0=0;
PORTA.3=0;
PORTA.4=0;
delay_ms(17);
}

}

void r2 (void)
{
// koordinat (1,5)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(200);
PORTA.1=0;
PORTA.2=0;
delay_us(300);
PORTA.5=0;
delay_us(100);
PORTA.4=0;
delay_us(50);
PORTA.0=0;
delay_us(50);
PORTA.3=0;
delay_ms(17);
}

}

void s2 (void)
{
// koordinat (2,5)

for(i=0;i<200;i++)
{
PORTA=255;

delay_us(1000);
PORTA.6=0;
delay_us(200);
PORTA.1=0;
PORTA.2=0;
delay_us(300);
PORTA.5=0;
delay_us(80);
PORTA.0=0;
delay_us(20);
PORTA.4=0;
delay_us(100);
PORTA.3=0;
delay_ms(17);
}

}

void t2 (void)
{
// koordinat (3,5)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(200);
PORTA.1=0;

PORTA.2=0;
delay_us(300);
PORTA.5=0;
PORTA.0=0;
delay_us(50);
PORTA.4=0;
delay_us(150);
PORTA.3=0;
delay_ms(17);
}

}

void u2 (void)
{
// koordinat (4,5)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(200);
PORTA.1=0;
PORTA.2=0;
delay_us(240);
PORTA.0=0;
delay_us(60);
PORTA.5=0;
delay_us(50);
PORTA.4=0;
delay_us(150);
PORTA.3=0;
delay_ms(17);
}

}

void v2 (void)
{
// koordinat (5,5)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(200);
PORTA.1=0;
PORTA.2=0;
delay_us(180);
PORTA.0=0;
delay_us(120);
PORTA.5=0;
delay_us(50);
PORTA.4=0;
delay_us(150);
PORTA.3=0;
delay_ms(17);
}

}

void w2 (void)
{
// koordinat (6,5)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(200);



PORTA.1=0;
PORTA.2=0;
delay_us(100);
PORTA.0=0;
delay_us(200);
PORTA.5=0;
delay_us(50);
PORTA.4=0;
delay_us(150);
PORTA.3=0;
delay_ms(17);
}

}

void x2 (void)
{
// koordinat (7,5)

for(i=0;i<200;i++)
{
PORTA=255;

delay_us(1000);
PORTA.6=0;
delay_us(150);
PORTA.1=0;
PORTA.2=0;
delay_us(120);
PORTA.0=0;
delay_us(220);
PORTA.5=0;
delay_us(50);
PORTA.4=0;
delay_us(100);
PORTA.3=0;
delay_ms(17);
}

}

void bn (void)
{
//koordinat (3,0)

for(i=0;i<200;i++)
{
PORTA=255;
delay_us(1000);
PORTA.6=0;
delay_us(500);
PORTA.5=0;
PORTA.0=0;
delay_us(200);
PORTA.4=0;
delay_us(400);
PORTA.1=0;
PORTA.2=0;
delay_us(200);
PORTA.3=0;
delay_ms(17);
}

}

void tp (void)
{
//perintah tutup
PORTA.6=1;
delay_us(1000);
PORTA.6=0;
delay_ms(19);
}

void uk (void)
{
//perintah buka
PORTA.6=1;
delay_us(1300);
PORTA.6=0;
delay_ms(19);
}

//========================================
=========================================
=====================

void main(void)
{
// Declare your local variables here

// Input/Output Ports initialization
// Port A initialization
// Func7=Out Func6=Out Func5=Out Func4=Out
Func3=Out Func2=Out Func1=Out Func0=Out
// State7=0 State6=0 State5=0 State4=0 State3=0 State2=0
State1=0 State0=0
PORTA=0x00;
DDRA=0xFF;

// Port B initialization
// Func7=In Func6=In Func5=In Func4=In Func3=In
Func2=In Func1=In Func0=In
// State7=T State6=T State5=T State4=T State3=T
State2=T State1=T State0=T
PORTB=0x00;
DDRB=0x00;

// Port C initialization
// Func7=In Func6=In Func5=In Func4=In Func3=In
Func2=In Func1=In Func0=In
// State7=T State6=T State5=T State4=T State3=T
State2=T State1=T State0=T
PORTC=0x00;
DDRC=0x00;

// Port D initialization
// Func7=Out Func6=Out Func5=Out Func4=Out
Func3=Out Func2=Out Func1=Out Func0=Out
// State7=0 State6=0 State5=0 State4=0 State3=0 State2=0
State1=0 State0=0
PORTD=0x00;
DDRD=0xFF;

// Timer/Counter 0 initialization
// Clock source: System Clock
// Clock value: Timer 0 Stopped
// Mode: Normal top=FFh
// OC0 output: Disconnected
TCCR0=0x00;
TCNT0=0x00;
OCR0=0x00;

// Timer/Counter 1 initialization
// Clock source: System Clock
// Clock value: Timer 1 Stopped
// Mode: Normal top=FFFFh
// OC1A output: Discon.
// OC1B output: Discon.
// Noise Canceler: Off



// Input Capture on Falling Edge
// Timer 1 Overflow Interrupt: Off
// Input Capture Interrupt: Off
// Compare A Match Interrupt: Off
// Compare B Match Interrupt: Off
TCCR1A=0x00;
TCCR1B=0x00;
TCNT1H=0x00;
TCNT1L=0x00;
ICR1H=0x00;
ICR1L=0x00;
OCR1AH=0x00;
OCR1AL=0x00;
OCR1BH=0x00;
OCR1BL=0x00;

// Timer/Counter 2 initialization
// Clock source: System Clock
// Clock value: Timer 2 Stopped
// Mode: Normal top=FFh
// OC2 output: Disconnected
ASSR=0x00;
TCCR2=0x00;
TCNT2=0x00;
OCR2=0x00;

// External Interrupt(s) initialization
// INT0: Off
// INT1: Off
// INT2: Off
MCUCR=0x00;
MCUCSR=0x00;

// Timer(s)/Counter(s) Interrupt(s) initialization
TIMSK=0x00;

// USART initialization
// Communication Parameters: 8 Data, 1 Stop, No Parity
// USART Receiver: On
// USART Transmitter: On
// USART Mode: Asynchronous
// USART Baud rate: 9600
UCSRA=0x00;
UCSRB=0x98;
UCSRC=0x86;
UBRRH=0x00;
UBRRL=0x47;

// Analog Comparator initialization
// Analog Comparator: Off
// Analog Comparator Input Capture by Timer/Counter 1:
Off
ACSR=0x80;
SFIOR=0x00;

// LCD module initialization
lcd_init(16);

// Global enable interrupts
#asm("sei")

while (1)
{
// Place your code here

//======track colour CMUCam2+=========//

printf("om 0 3\r");
delay_ms(100);
printf("tc 80 180 16 30 16 30 \r");
delay_ms(100);

if(koor[0]<=1 )//===============tidak ada data yang
dikirim
{
lcd_clear();
sprintf(ko,"apa lagi %d %d",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(200);
}
else
//========================================
=================ada data yang dikirim
{

if(koor[1]>=1)//==============================
=========================dua

{
if(koor[0]=97)
{

switch (koor[1])
{

//depan A

case 97 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)aa();
break;

case 98 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)ab();
break;

case 99 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)ac();
break;

case 100 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)ad();
break;

case 101 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)ae();
break;

case 102 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);



lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)af();
break;

case 103 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)ag();
break;

case 104 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)ah();
break;

case 105 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)ai();
break;

case 106 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)aj();
break;

case 107 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)ak();
break;

case 108 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)al();
break;

case 109 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)am();
break;

case 110 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)an();
break;

case 111 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)ao();
break;

case 112 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)ap();
break;

case 113 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)aq();
break;

case 114 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)ar();
break;

case 115 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)as();
break;

case 116 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)at();
break;

case 117 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)au();
break;

case 118 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)av();
break;

case 119 :       lcd_clear();
sprintf(ko,"2A %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)aw();
break;

}
mi=0;
koor[0]=0;
koor[1]=0;
}

}
else

//========================================
=================satu



{
switch (koor[0])
{
case 33 :      lcd_clear();

sprintf(ko,"buka %u %u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)uk();
break;

case 35 :      lcd_clear();
sprintf(ko,"tutup %u %u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)tp();
break;

case 36 :      lcd_clear();
sprintf(ko,"siap %u %u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)bn();
break;

case 97  :      lcd_clear();
sprintf(ko,"koordinat %u

%u",koor[0],koor[1]);
lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)a();

break;
case 98  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)b();

break;
case 99  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)c();

break;
case 100  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)d();

break;
case 101  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)e();

break;
case 102  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)f();

break;
case 103  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);

delay_ms(300);
for(i=0;i<=100;i++)g();

break;
case 104  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)h();

break;
case 106  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)j();

break;
case 107  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)k();

break;
case 108  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)l();

break;
case 109  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)m();

break;
case 110  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)n();

break;
case 111  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)o();

break;
case 112  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)p();

break;
case 113  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)q();

break;
case 114  :      lcd_clear();



sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)r();

break;
case 115  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)s();

break;
case 116  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)t();

break;
case 117  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)u();

break;
case 118  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)v();

break;
case 119  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)w();

break;
case 120  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)x();

break;
case 121  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)y();

break;
case 122  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)z();

break;

//DENGAN ANGKA 1 SAMPAI 3
case 66  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)a1();

break;
case 67  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)b1();

break;
case 68  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)c1();

break;
case 69  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)d1();

break;
case 70  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)e1();

break;
case 71  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)f1();

break;
case 72  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)g1();

break;
case 73  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)h1();

break;
case 74  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)j1();

break;
case 75  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);



for(i=0;i<=100;i++)k1();
break;
case 76  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)l1();

break;
case 77  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)m1();

break;
case 78  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)n1();

break;
case 79  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)o1();

break;
case 80  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)p1();

break;
case 81  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)q1();

break;
case 82  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)r1();

break;
case 83  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)s1();

break;
case 84  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)t1();

break;
case 37  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)u1();

break;
case 38  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)v1();

break;
case 39  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)w1();

break;
case 40  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)x1();

break;
case 41  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)y1();

break;
case 42  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)z1();

break;
case 43 :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)a2();

break;
case 44  : lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)b2();

break;
case 45  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)c2();

break;
case 46  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);



for(i=0;i<=100;i++)d2();
break;
case 47 :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)e2();

break;
case 48  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)f2();

break;
case 49  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)g2();

break;
case 50  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)h2();

break;
case 51  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)j2();

break;
case 52  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)k2();

break;
case 53  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)l2();

break;
case 54  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)m2();

break;
case 55  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)n2();

break;
case 56  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)o2();

break;
case 57  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)p2();

break;
case 58  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)q2();

break;
case 59  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)r2();

break;
case 60  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)s2();

break;
case 61  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)t2();

break;
case 62 :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)u2();

break;
case 63  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)v2();

break;
case 64  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);
for(i=0;i<=100;i++)w2();

break;
case 65  :      lcd_clear();

sprintf(ko,"koordinat %u
%u",koor[0],koor[1]);

lcd_puts(ko);
delay_ms(300);



for(i=0;i<=100;i++)x2();
break;

};

mi=0;
koor[0]=0;
}

}



PROGRAM VISUAL BASIC

=======PROGRAM VISUAL BASIC PADA FORM
CODE=======

Private Sub Command1_Click()

Dim txt As String
Dim token As String

txt = GetToken(Text2.Text, "ACK") & vbCrLf
Do

token = GetToken("", "ACK")
If token = "" Then Exit Do
txt = txt & token & vbCrLf

Loop
RichTextBox1 = txt

End Sub

Private Sub Command10_Click()
MSComm5.Output = "$"
End Sub

Private Sub Command2_Click()
Dim a As String
a = RichTextBox1.Text

Text3.Text = Mid(a, 3, 2)
Text4.Text = Mid(a, 6, 4)

End Sub

Private Sub Command3_Click()
If Val(Text3.Text) >= 26 And Val(Text3.Text) <= 32
Then

Text5.Text = 7
ElseIf Val(Text3.Text) >= 33 And Val(Text3.Text) <= 39
Then

Text5.Text = 6
ElseIf Val(Text3.Text) >= 40 And Val(Text3.Text) <= 46
Then

Text5.Text = 5
ElseIf Val(Text3.Text) >= 47 And Val(Text3.Text) <= 53
Then

Text5.Text = 4
ElseIf Val(Text3.Text) >= 54 And Val(Text3.Text) <= 60
Then

Text5.Text = 3
ElseIf Val(Text3.Text) >= 61 And Val(Text3.Text) <= 67
Then

Text5.Text = 2
ElseIf Val(Text3.Text) >= 68 And Val(Text3.Text) <= 74
Then

Text5.Text = 1
ElseIf Val(Text3.Text) >= 75 And Val(Text3.Text) <= 81
Then

Text5.Text = 0
End If

If Val(Text4.Text) >= 12 And Val(Text4.Text) <= 27
Then

Text6.Text = 7
ElseIf Val(Text4.Text) >= 28 And Val(Text4.Text) <= 42
Then

Text6.Text = 6

ElseIf Val(Text4.Text) >= 43 And Val(Text4.Text) <= 57
Then

Text6.Text = 5
ElseIf Val(Text4.Text) >= 58 And Val(Text4.Text) <= 72
Then

Text6.Text = 4
ElseIf Val(Text4.Text) >= 73 And Val(Text4.Text) <= 87
Then

Text6.Text = 3
ElseIf Val(Text4.Text) >= 88 And Val(Text4.Text) <=
102 Then

Text6.Text = 2
ElseIf Val(Text4.Text) >= 103 And Val(Text4.Text) <=
117 Then

Text6.Text = 1
ElseIf Val(Text4.Text) >= 118 And Val(Text4.Text) <=
132 Then

Text6.Text = 0
End If
End Sub

Private Sub Command4_Click()
End
End Sub

Private Sub Command5_Click()
If CStr(Combo1.ItemData(Combo1.ListIndex)) = 1 Then

MSComm5.Output = "a"
Text8.Text = "0"
Text9.Text = "0"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) = 2
Then

MSComm5.Output = "b"
Text8.Text = "1"

Text9.Text = "0"
ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) = 3

Then
MSComm5.Output = "c"
Text8.Text = "2"
Text9.Text = "0"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) = 4
Then

MSComm5.Output = "d"
Text8.Text = "3"
Text9.Text = "0"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) = 5
Then

MSComm5.Output = "e"
Text8.Text = "4"
Text9.Text = "0"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) = 6
Then

MSComm5.Output = "f"
Text8.Text = "5"
Text9.Text = "0"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) = 7
Then

MSComm5.Output = "g"
Text8.Text = "6"
Text9.Text = "0"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) = 8
Then

MSComm5.Output = "h"
Text8.Text = "7"



Text9.Text = "0"
ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) = 9

Then
MSComm5.Output = "j"
Text8.Text = "0"
Text9.Text = "1"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
10 Then

MSComm5.Output = "k"
Text8.Text = "1"
Text9.Text = "1"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
11 Then

MSComm5.Output = "l"
Text8.Text = "2"
Text9.Text = "1"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
12 Then

MSComm5.Output = "m"
Text8.Text = "3"
Text9.Text = "1"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
13 Then

MSComm5.Output = "n"
Text8.Text = "4"
Text9.Text = "1"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
14 Then

MSComm5.Output = "o"
Text8.Text = "5"
Text9.Text = "1"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
15 Then

MSComm5.Output = "p"
Text8.Text = "6"
Text9.Text = "1"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
16 Then

MSComm5.Output = "q"
Text8.Text = "7"
Text9.Text = "1"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
17 Then

MSComm5.Output = "r"
Text8.Text = "0"
Text9.Text = "2"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
18 Then

MSComm5.Output = "s"
Text8.Text = "1"
Text9.Text = "2"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
19 Then

MSComm5.Output = "t"
Text8.Text = "2"
Text9.Text = "2"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
20 Then

MSComm5.Output = "u"
Text8.Text = "3"
Text9.Text = "2"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
21 Then

MSComm5.Output = "v"
Text8.Text = "4"
Text9.Text = "2"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
22 Then

MSComm5.Output = "w"
Text8.Text = "5"
Text9.Text = "2"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
23 Then

MSComm5.Output = "x"
Text8.Text = "6"
Text9.Text = "2"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
24 Then

MSComm5.Output = "y"
Text8.Text = "7"
Text9.Text = "2"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
25 Then

MSComm5.Output = "z"
Text8.Text = "0"
Text9.Text = "3"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
26 Then

MSComm5.Output = "aa"
Text8.Text = "1"
Text9.Text = "3"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
27 Then

MSComm5.Output = "ab"
Text8.Text = "2"
Text9.Text = "3"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
28 Then

MSComm5.Output = "ac"
Text8.Text = "3"
Text9.Text = "3"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
29 Then

MSComm5.Output = "ad"
Text8.Text = "4"
Text9.Text = "3"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
30 Then

MSComm5.Output = "ae"
Text8.Text = "5"
Text9.Text = "3"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
31 Then

MSComm5.Output = "af"
Text8.Text = "6"
Text9.Text = "3"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
32 Then

MSComm5.Output = "ag"
Text8.Text = "7"
Text9.Text = "3"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
33 Then

MSComm5.Output = "ah"
Text8.Text = "0"
Text9.Text = "4"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
34 Then

MSComm5.Output = "ai"
Text8.Text = "1"
Text9.Text = "4"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
35 Then



MSComm5.Output = "aj"
Text8.Text = "2"
Text9.Text = "4"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
36 Then

MSComm5.Output = "ak"
Text8.Text = "3"
Text9.Text = "4"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
37 Then

MSComm5.Output = "al"
Text8.Text = "4"
Text9.Text = "4"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
38 Then

MSComm5.Output = "am"
Text8.Text = "5"
Text9.Text = "4"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
39 Then

MSComm5.Output = "an"
Text8.Text = "6"
Text9.Text = "4"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
40 Then

MSComm5.Output = "ao"
Text8.Text = "7"
Text9.Text = "4"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
41 Then

MSComm5.Output = "ap"
Text8.Text = "0"
Text9.Text = "5"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
42 Then

MSComm5.Output = "aq"
Text8.Text = "1"
Text9.Text = "5"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
43 Then

MSComm5.Output = "ar"
Text8.Text = "2"
Text9.Text = "5"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
44 Then

MSComm5.Output = "as"
Text8.Text = "3"
Text9.Text = "5"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
45 Then

MSComm5.Output = "at"
Text8.Text = "4"
Text9.Text = "5"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
46 Then

MSComm5.Output = "au"
Text8.Text = "5"
Text9.Text = "5"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
47 Then

MSComm5.Output = "av"
Text8.Text = "6"
Text9.Text = "5"

ElseIf CStr(Combo1.ItemData(Combo1.ListIndex)) =
48 Then

MSComm5.Output = aw
Text8.Text = "7"

Text9.Text = "5"

End If

End Sub

Private Sub Command6_Click()
If CStr(Combo2.ItemData(Combo2.ListIndex)) = 49 Then

MSComm5.Output = "B"
Text8.Text = "0"
Text9.Text = "0"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
50 Then

MSComm5.Output = "C"
Text8.Text = "1"
Text9.Text = "0"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
51 Then

MSComm5.Output = "D"
Text8.Text = "2"
Text9.Text = "0"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
52 Then

MSComm5.Output = "E"
Text8.Text = "3"
Text9.Text = "0"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
53 Then

MSComm5.Output = "F"
Text8.Text = "4"
Text9.Text = "0"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
54 Then

MSComm5.Output = "G"
Text8.Text = "5"
Text9.Text = "0"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
55 Then

MSComm5.Output = "H"
Text8.Text = "6"
Text9.Text = "0"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
56 Then

MSComm5.Output = "I"
Text8.Text = "7"
Text9.Text = "0"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
57 Then

MSComm5.Output = "J"
Text8.Text = "0"
Text9.Text = "1"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
58 Then

MSComm5.Output = "K"
Text8.Text = "1"
Text9.Text = "1"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
59 Then

MSComm5.Output = "L"
Text8.Text = "2"
Text9.Text = "1"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
60 Then

MSComm5.Output = "M"
Text8.Text = "3"
Text9.Text = "1"



ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
61 Then

MSComm5.Output = "N"
Text8.Text = "4"
Text9.Text = "1"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
62 Then

MSComm5.Output = "O"
Text8.Text = "5"
Text9.Text = "1"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
63 Then

MSComm5.Output = "P"
Text8.Text = "6"
Text9.Text = "1"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
64 Then

MSComm5.Output = "Q"
Text8.Text = "7"
Text9.Text = "1"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
65 Then

MSComm5.Output = "R"
Text8.Text = "0"
Text9.Text = "2"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
66 Then

MSComm5.Output = "S"
Text8.Text = "1"
Text9.Text = "2"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
67 Then

MSComm5.Output = "T"
Text8.Text = "2"
Text9.Text = "2"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
68 Then

MSComm5.Output = "%"
Text8.Text = "3"
Text9.Text = "2"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
69 Then

MSComm5.Output = "&"
Text8.Text = "4"
Text9.Text = "2"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
70 Then

MSComm5.Output = "'"
Text8.Text = "5"
Text9.Text = "2"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
71 Then

MSComm5.Output = "("
Text8.Text = "6"
Text9.Text = "2"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
72 Then

MSComm5.Output = ")"
Text8.Text = "7"
Text9.Text = "2"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
73 Then

MSComm5.Output = "*"
Text8.Text = "0"
Text9.Text = "3"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
74 Then

MSComm5.Output = "+"
Text8.Text = "1"
Text9.Text = "3"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
75 Then

MSComm5.Output = ","
Text8.Text = "2"
Text9.Text = "3"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
76 Then

MSComm5.Output = "-"
Text8.Text = "3"
Text9.Text = "3"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
77 Then

MSComm5.Output = "."
Text8.Text = "4"
Text9.Text = "3"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
78 Then

MSComm5.Output = "/"
Text8.Text = "5"
Text9.Text = "3"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
79 Then

MSComm5.Output = "0"
Text8.Text = "6"
Text9.Text = "3"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
80 Then

MSComm5.Output = "1"
Text8.Text = "7"
Text9.Text = "3"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
81 Then

MSComm5.Output = "2"
Text8.Text = "0"
Text9.Text = "4"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
82 Then

MSComm5.Output = "3"
Text8.Text = "1"
Text9.Text = "4"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
83 Then

MSComm5.Output = "4"
Text8.Text = "2"
Text9.Text = "4"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
84 Then

MSComm5.Output = "5"
Text8.Text = "3"
Text9.Text = "4"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
85 Then

MSComm5.Output = "6"
Text8.Text = "4"
Text9.Text = "4"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
86 Then

MSComm5.Output = "7"
Text8.Text = "5"
Text9.Text = "4"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
87 Then

MSComm5.Output = "8"
Text8.Text = "6"



Text9.Text = "4"
ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =

88 Then
MSComm5.Output = "9"
Text8.Text = "7"
Text9.Text = "4"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
89 Then

MSComm5.Output = ":"
Text8.Text = "0"
Text9.Text = "5"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
90 Then

MSComm5.Output = ";"
Text8.Text = "1"
Text9.Text = "5"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
91 Then

MSComm5.Output = "<"
Text8.Text = "2"
Text9.Text = "5"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
92 Then

MSComm5.Output = "="
Text8.Text = "3"
Text9.Text = "5"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
93 Then

MSComm5.Output = ">"
Text8.Text = "4"
Text9.Text = "5"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
94 Then

MSComm5.Output = "?"
Text8.Text = "5"
Text9.Text = "5"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
95 Then

MSComm5.Output = "@"
Text8.Text = "6"
Text9.Text = "5"

ElseIf CStr(Combo2.ItemData(Combo2.ListIndex)) =
96 Then

MSComm5.Output = "A"
Text8.Text = "7"
Text9.Text = "5"

End If
End Sub

Private Sub Command7_Click()
MSComm5.Output = "!"

End Sub

Private Sub Command8_Click()
MSComm5.Output = "#"

End Sub

Private Sub Command9_Click()
If (Text5.Text <> "" And Text6.Text <> "") And
(Text8.Text <> "" And Text9.Text <> "") Then

If (Text5.Text = Text8.Text) And (Text6.Text =
Text9.Text) Then

Text7.Text = "benar"
ElseIf (Text5.Text <> Text8.Text) And (Text6.Text =

Text9.Text) Then
Text7.Text = "salah, x tidak sama"

ElseIf (Text5.Text = Text8.Text) And (Text6.Text <>
Text9.Text) Then

Text7.Text = "salah, y tidak sama"
Else
Text7.Text = "salah"
End If

End If
End Sub

Private Sub Form_Load()
MSComm5.PortOpen = True
MSComm4.PortOpen = True

'combo untuk posisi awal'
Combo1.AddItem "posisi awal 0,0"
Combo1.ItemData(Combo1.NewIndex) = 1
Combo1.AddItem "posisi awal 1,0"
Combo1.ItemData(Combo1.NewIndex) = 2
Combo1.AddItem "posisi awal 2,0"
Combo1.ItemData(Combo1.NewIndex) = 3
Combo1.AddItem "posisi awal 3,0"
Combo1.ItemData(Combo1.NewIndex) = 4
Combo1.AddItem "posisi awal 4,0"
Combo1.ItemData(Combo1.NewIndex) = 5
Combo1.AddItem "posisi awal 5,0"
Combo1.ItemData(Combo1.NewIndex) = 6
Combo1.AddItem "posisi awal 6,0"
Combo1.ItemData(Combo1.NewIndex) = 7
Combo1.AddItem "posisi awal 7,0"
Combo1.ItemData(Combo1.NewIndex) = 8
Combo1.AddItem "posisi awal 0,1"
Combo1.ItemData(Combo1.NewIndex) = 9
Combo1.AddItem "posisi awal 1,1"
Combo1.ItemData(Combo1.NewIndex) = 10
Combo1.AddItem "posisi awal 2,1"
Combo1.ItemData(Combo1.NewIndex) = 11
Combo1.AddItem "posisi awal 3,1"
Combo1.ItemData(Combo1.NewIndex) = 12
Combo1.AddItem "posisi awal 4,1"
Combo1.ItemData(Combo1.NewIndex) = 13
Combo1.AddItem "posisi awal 5,1"
Combo1.ItemData(Combo1.NewIndex) = 14
Combo1.AddItem "posisi awal 6,1"
Combo1.ItemData(Combo1.NewIndex) = 15
Combo1.AddItem "posisi awal 7,1"
Combo1.ItemData(Combo1.NewIndex) = 16
Combo1.AddItem "posisi awal 0,2"
Combo1.ItemData(Combo1.NewIndex) = 17
Combo1.AddItem "posisi awal 1,2"
Combo1.ItemData(Combo1.NewIndex) = 18
Combo1.AddItem "posisi awal 2,2"
Combo1.ItemData(Combo1.NewIndex) = 19
Combo1.AddItem "posisi awal 3,2"
Combo1.ItemData(Combo1.NewIndex) = 20
Combo1.AddItem "posisi awal 4,2"
Combo1.ItemData(Combo1.NewIndex) = 21
Combo1.AddItem "posisi awal 5,2"
Combo1.ItemData(Combo1.NewIndex) = 22
Combo1.AddItem "posisi awal 6,2"
Combo1.ItemData(Combo1.NewIndex) = 23
Combo1.AddItem "posisi awal 7,2"
Combo1.ItemData(Combo1.NewIndex) = 24
Combo1.AddItem "posisi awal 0,3"
Combo1.ItemData(Combo1.NewIndex) = 25
Combo1.AddItem "posisi awal 1,3"
Combo1.ItemData(Combo1.NewIndex) = 26



Combo1.AddItem "posisi awal 2,3"
Combo1.ItemData(Combo1.NewIndex) = 27
Combo1.AddItem "posisi awal 3,3"
Combo1.ItemData(Combo1.NewIndex) = 28
Combo1.AddItem "posisi awal 4,3"
Combo1.ItemData(Combo1.NewIndex) = 29
Combo1.AddItem "posisi awal 5,3"
Combo1.ItemData(Combo1.NewIndex) = 30
Combo1.AddItem "posisi awal 6,3"
Combo1.ItemData(Combo1.NewIndex) = 31
Combo1.AddItem "posisi awal 7,3"
Combo1.ItemData(Combo1.NewIndex) = 32
Combo1.AddItem "posisi awal 0,4"
Combo1.ItemData(Combo1.NewIndex) = 33
Combo1.AddItem "posisi awal 1,4"
Combo1.ItemData(Combo1.NewIndex) = 34
Combo1.AddItem "posisi awal 2,4"
Combo1.ItemData(Combo1.NewIndex) = 35
Combo1.AddItem "posisi awal 3,4"
Combo1.ItemData(Combo1.NewIndex) = 36
Combo1.AddItem "posisi awal 4,4"
Combo1.ItemData(Combo1.NewIndex) = 37
Combo1.AddItem "posisi awal 5,4"
Combo1.ItemData(Combo1.NewIndex) = 38
Combo1.AddItem "posisi awal 6,4"
Combo1.ItemData(Combo1.NewIndex) = 39
Combo1.AddItem "posisi awal 7,4"
Combo1.ItemData(Combo1.NewIndex) = 40
Combo1.AddItem "posisi awal 0,5"
Combo1.ItemData(Combo1.NewIndex) = 41
Combo1.AddItem "posisi awal 1,5"
Combo1.ItemData(Combo1.NewIndex) = 42
Combo1.AddItem "posisi awal 2,5"
Combo1.ItemData(Combo1.NewIndex) = 43
Combo1.AddItem "posisi awal 3,5"
Combo1.ItemData(Combo1.NewIndex) = 44
Combo1.AddItem "posisi awal 4,5"
Combo1.ItemData(Combo1.NewIndex) = 45
Combo1.AddItem "posisi awal 5,5"
Combo1.ItemData(Combo1.NewIndex) = 46
Combo1.AddItem "posisi awal 6,5"
Combo1.ItemData(Combo1.NewIndex) = 47
Combo1.AddItem "posisi awal 7,5"
Combo1.ItemData(Combo1.NewIndex) = 48

'combo untuk posisi tujuan'
Combo2.AddItem "posisi akhir 0,0"
Combo2.ItemData(Combo2.NewIndex) = 49
Combo2.AddItem "posisi akhir 1,0"
Combo2.ItemData(Combo2.NewIndex) = 50
Combo2.AddItem "posisi akhir 2,0"
Combo2.ItemData(Combo2.NewIndex) = 51
Combo2.AddItem "posisi akhir 3,0"
Combo2.ItemData(Combo2.NewIndex) = 52
Combo2.AddItem "posisi akhir 4,0"
Combo2.ItemData(Combo2.NewIndex) = 53
Combo2.AddItem "posisi akhir 5,0"
Combo2.ItemData(Combo2.NewIndex) = 54
Combo2.AddItem "posisi akhir 6,0"
Combo2.ItemData(Combo2.NewIndex) = 55
Combo2.AddItem "posisi akhir 7,0"
Combo2.ItemData(Combo2.NewIndex) = 56
Combo2.AddItem "posisi akhir 0,1"
Combo2.ItemData(Combo2.NewIndex) = 57
Combo2.AddItem "posisi akhir 1,1"
Combo2.ItemData(Combo2.NewIndex) = 58
Combo2.AddItem "posisi akhir 2,1"

Combo2.ItemData(Combo2.NewIndex) = 59
Combo2.AddItem "posisi akhir 3,1"
Combo2.ItemData(Combo2.NewIndex) = 60
Combo2.AddItem "posisi akhir 4,1"
Combo2.ItemData(Combo2.NewIndex) = 61
Combo2.AddItem "posisi akhir 5,1"
Combo2.ItemData(Combo2.NewIndex) = 62
Combo2.AddItem "posisi akhir 6,1"
Combo2.ItemData(Combo2.NewIndex) = 63
Combo2.AddItem "posisi akhir 7,1"
Combo2.ItemData(Combo2.NewIndex) = 64
Combo2.AddItem "posisi akhir 0,2"
Combo2.ItemData(Combo2.NewIndex) = 65
Combo2.AddItem "posisi akhir 1,2"
Combo2.ItemData(Combo2.NewIndex) = 66
Combo2.AddItem "posisi akhir 2,2"
Combo2.ItemData(Combo2.NewIndex) = 67
Combo2.AddItem "posisi akhir 3,2"
Combo2.ItemData(Combo2.NewIndex) = 68
Combo2.AddItem "posisi akhir 4,2"
Combo2.ItemData(Combo2.NewIndex) = 69
Combo2.AddItem "posisi akhir 5,2"
Combo2.ItemData(Combo2.NewIndex) = 70
Combo2.AddItem "posisi akhir 6,2"
Combo2.ItemData(Combo2.NewIndex) = 71
Combo2.AddItem "posisi akhir 7,2"
Combo2.ItemData(Combo2.NewIndex) = 72
Combo2.AddItem "posisi akhir 0,3"
Combo2.ItemData(Combo2.NewIndex) = 73
Combo2.AddItem "posisi akhir 1,3"
Combo2.ItemData(Combo2.NewIndex) = 74
Combo2.AddItem "posisi akhir 2,3"
Combo2.ItemData(Combo2.NewIndex) = 75
Combo2.AddItem "posisi akhir 3,3"
Combo2.ItemData(Combo2.NewIndex) = 76
Combo2.AddItem "posisi akhir 4,3"
Combo2.ItemData(Combo2.NewIndex) = 77
Combo2.AddItem "posisi akhir 5,3"
Combo2.ItemData(Combo2.NewIndex) = 78
Combo2.AddItem "posisi akhir 6,3"
Combo2.ItemData(Combo2.NewIndex) = 79
Combo2.AddItem "posisi akhir 7,3"
Combo2.ItemData(Combo2.NewIndex) = 80
Combo2.AddItem "posisi akhir 0,4"
Combo2.ItemData(Combo2.NewIndex) = 81
Combo2.AddItem "posisi akhir 1,4"
Combo2.ItemData(Combo2.NewIndex) = 82
Combo2.AddItem "posisi akhir 2,4"
Combo2.ItemData(Combo2.NewIndex) = 83
Combo2.AddItem "posisi akhir 3,4"
Combo2.ItemData(Combo2.NewIndex) = 84
Combo2.AddItem "posisi akhir 4,4"
Combo2.ItemData(Combo2.NewIndex) = 85
Combo2.AddItem "posisi akhir 5,4"
Combo2.ItemData(Combo2.NewIndex) = 86
Combo2.AddItem "posisi akhir 6,4"
Combo2.ItemData(Combo2.NewIndex) = 87
Combo2.AddItem "posisi akhir 7,4"
Combo2.ItemData(Combo2.NewIndex) = 88
Combo2.AddItem "posisi akhir 0,5"
Combo2.ItemData(Combo2.NewIndex) = 89
Combo2.AddItem "posisi akhir 1,5"
Combo2.ItemData(Combo2.NewIndex) = 90
Combo2.AddItem "posisi akhir 2,5"
Combo2.ItemData(Combo2.NewIndex) = 91
Combo2.AddItem "posisi akhir 3,5"
Combo2.ItemData(Combo2.NewIndex) = 92



Combo2.AddItem "posisi akhir 4,3"
Combo2.ItemData(Combo2.NewIndex) = 93
Combo2.AddItem "posisi akhir 5,5"
Combo2.ItemData(Combo2.NewIndex) = 94
Combo2.AddItem "posisi akhir 6,5"
Combo2.ItemData(Combo2.NewIndex) = 95
Combo2.AddItem "posisi akhir 7,5"
Combo2.ItemData(Combo2.NewIndex) = 96

End Sub

Private Sub RichTextBox1_Change()
Command2_Click
End Sub

Private Sub Text2_Change()
Command1_Click
End Sub

Private Sub Text3_Change()
Command3_Click
End Sub

Private Sub Text4_Change()
Command3_Click
End Sub

Private Sub Text8_Change()
Command9_Click
End Sub

Private Sub Text9_Change()
Command9_Click
End Sub

Private Sub Timer1_Timer()
Text1.Text = MSComm5.Input
Text2.Text = MSComm4.Input

End Sub

Private Sub Timer2_Timer()
MSComm4.Output = Text1.Text
End Sub



===============PROGRAM VISUAL BASIC PADA MODULE CODE==========

Public Function GetToken(new_txt As String, delimiter As _
String) As String

Static txt As String
Dim pos As Integer

' Save new text.
If new_txt <> "" Then txt = new_txt

pos = InStr(txt, delimiter)
If pos < 1 Then pos = Len(txt) + 1
GetToken = Left$(txt, pos - 1)
pos = Len(txt) - pos + 1 - Len(delimiter)
If pos < 1 Then

txt = ""
Else

txt = Right$(txt, pos)
End If

End Function
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